H £ 0l & AFHSH & Ml A

= WTMLIA P

M
el 2EABIA MA 2F (St M2
SA - B . B(30) - HSAIY - BAS Ol &k e HimE==T
QIR S AtDt 731,680 681,096 50,584
= 87,087
& 3,577
Al 641,016
DHOEE HHANHIA 2= 222,613 213,265 9,348
= 24,999
Al 197,614
QIANHIA A 75 197,614 187,245 10,369
QIREE &t 65,640 38,940 26,700
201 et AL| 59,940 31,740 28,200
01 ArR2telt| 27,740 25,740 2,000
ORIACHE(RIET) AETA 18,500
-QIRIOFEGE KA} 7,500,000 7,500
~SEE TA 11,000,000 11,000
OFE Wg AAMZ(23]) 1,000,000& 1,000
Ooulgal s (ste S)
2,000,000& 2,000
ORIZANM A22F 2 5,640
-QIAME WA Y EAD| EH S
120,000« 128 1,440
-SAK 2 CHOI2I&e Xtx L AMEF S
350,000& =123 4,200
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201 Let2AL| 96,951 92,079 4,872
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S QIASARL
ME: DUE HHAHIA D
chelr DIAAMBIA XA 2F EEREED
SA - ZB . O9(3) - HRAY - BaS Ol & e HimE=T
Ode)| SXl2el 1,000, 000& 1,000
Ouldsy stz SKI(10)
3,000,000& 3,000
203 AR FAY| 5,000 5,000
03 A =& AP =X 5,000 5,000
ORIZAD ABEFQREAY
5,000,000& 5,000
308 XXIHMSOIA 19,913 19,786 127
13 SI 12 SOCHEH B A ERAEA 19,913 19,786 127
OXAL ZRSSALY 29 293
19,913,000 19,913
405 Xt SHI 10,110 31,440 221,330
01 IR =SF =S| 10,110 31,440 A21,330
ORI MEE =]
430,000 *23CH 9,890
ORla E25&4 220,000 *1CH 220
IIEEA S8R Azt 24,99 26,020 A1,021
= 24,99
IISSHSEARHC ZHl K& 24,999 26,020 21,021
= 24,99
201 ZEet=AH| 24,99 26,020 21,021
= 24,99
01 AtR2teld] 24,99 26,020 A1,021
ONESHHSE 2 2223 +
12,000,000 12,000
= 12,000
ON=EBHS=Y2 ANSBE 72 S
12,999,000 12,999
= 12,99
N&E Y B4 447,892 409,349 38,543
= 48,852
= 3,577
Al 395,463
EX2te 252,076 211,302 40,774
= 17,171
= 2,681
Al 232,224
IHESAIXIOE AL &S 51,971 46,379 5,592
= 17,171
Al 34,800
201 Let2AL| 51,171 45,579 5,592
= 17,171
Al 34,000
01 AFR-2t2l8l 51,171 45,579 5,592
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OMSBARDL 2ES4E S
51,171,000& 51,171
= 17,171
Al 34,000
202 o4 800 800
01 =WHOdbI 800 800
OIS S AIRIDE ZAHOHI 800,000& 800
PSMHAHEA = 37,000 40,300 A3,300
201 Let2AL| 31,000 30,000 1,000
01 Ar22telt| 31,000 30,000 1,000
ONLREZ 2 HLHIE MY ===
= 30,000,000 30,000
OFsttae| dRF8 S 1,000,000& 1,000
202 (44| 1,000 300 700
01 =LHO4 b 1,000 300 700
Ofs4tze| J2 =UHALI
1,000,000& 1,000
301 LBetENF 5,000 10,000 25,000
14 J|Et2 &3 5,000 10,000 A\5,000
ORSA Al HAAD ZaZ
5,000,000& 5,000
SOSIAF s L K& 2,681 1,744 937
= 2,681
201 et AL| 2,681 1,744 937
= 2,681
03 A2 Y| 2,681 1,744 937
OZQSHAL s 29
2,681,000& 2,681
= 2,681
T2E M=z 29 54,653 40,289 14,364
201 LEt2AY| 1,576 2,092 Ab16
01 A=R2t2dl 500 700 A200
OE2ZA 2R3 3o AR
100,000& *5H %13 500
02 2324l 1,076 1,392 A316
OALIEINOIA Sl g
19,8002 x 122 »2[H 476
O d&i |2
600,000& *13l 600
202 04| 700 700
01 =W 3Ll 700 700
OE2gF4 ALY =& 700,000& 700
206 M= 8l 300 300
01 M=l 300 300
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chelr EXizel EEREED
SA - BH - SRI(B) - MRAR - BaS 0f v e HIDEY
OASHSE Sodipl £05
300,000 300
308 AXIEHMSOIA 52,077 37,197 14,880
13 SISOt EASAIS I 52,077 37,197 14,880
O=ItF=AE2AAE RAE- & 23| 52,077
CISAZEAN FAZ2H
2,518,000& 2,518
KAISAIAES 2SI 15,155,000& 15,155
—XAICH KAISAIAEY 1= 34,404,000 34,404
M=AAIE2E FHIA 49,000 40,000 9,000
401 AIEHIX 20 49,000 40,000 9,000
01 AlZH| 49,000 40,000 9,000
Oz S SAIE=E € & RAE=+ 49,000
-C2E8E X S 180,000 » 100K 18,000
-AESHSE &X] S 10,0002 %2, 2000H 22,000
-SSEEA ASVSE(LED) £X
450,000 *20K 9,000
aN=2 e MY 6,000 6,000 0
201 Ler2d| 6,000 6,000
01 AlR2teltl 6,000 6,000
Od M= Jest A 222 M
2,00024+3, 000K 6,000
C2HFA D2k Sds ALY 31,271 17,590 13,681
308 NHAIEHHMISOIE 31,271 17,590 13,681
13 S 2SOIUeHE & E S AISH 31,271 17,590 13,681
OE2HFA JIE2k FAEs A
31,271,000 31,271
C2EFA GHHAIE SHEAL 19,500 19,000 500
201 24| 19,500 19,000 500
01 AHR2t2lBl 19,500 19,000 500
OE2HF4 AMEE 2HEA ES
19,500,000 19,500
AHEF2 & H=g 195,816 198,047 A2,231
= 31,681
= 8%
Al 163,239
INESE=E 4,656 4,656 0
201 B2 4,056 4,056
01 Ar2telHl 4,056 4,056
OXNHLE 22RE ARES 7Y 1,2%
~EX(LONHE MAHEX 72 (M)
25,0002 +38t A% 123 900
-XIE (0o &S S 7 (A3)
33,0002 x 18t A% 123 3%
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OSSUZHTEAAY 2% 208 22
o2IH E4 S) 230,000 * 1224 2,760
202 04| 600 600
01 =UOdbI 600 600
OXNE=ZE JuZAt 300,000& 300
OEXOIsEel HXIZA 300,000& 300
NEEAM2S 45,236 45,236 0
201 Let2AL| 45,236 45,236 0
01 Ar22teltl 45,236 9,800 35,436
OGN EIIES Mottty e 24
9,800,000& 9,800
ORSNZESRAIAH SIE/AN X2l
=]l 889,000 *12& 10,668
OFSLUHSESRAAE 29 RAl2eld]
2,064,000& =123 24,768
NETHZEAALS =& 111,255 104,834 6,421
201 Let2AY| 80,055 31,34 48,721
01 At 22|l 77,142 24,721 52,421
OXNEMMEANS E2E HE S
10,0002 40004 4,000
OXNETHEAL XNEIESE 2tel 59,202
-N&EI|IEE 4X 155, 1003 320 49,632
-N&EI|IEE ST A 11,000& 8708 9,570
OXE< HOIe ME(ASKIEE HA)
100,000& *30&= = 3,000
OXIETHEAL 2&A A3 A
100,000 *7H *43] 2,800
OMIAEXIA GPS &I = Xl2teld]
35,000,000 *10% 3,500
OSETHI(EZAHI0IA) A2l
19,400, 0002 *10% 1,940
OZdEI} =25
45,0003 *30 = XI+2I0 & &l 2,700
02 S=2%| 2,913 6,613 A3,700
OXIETHEAANY R2BEESS
1,000,000& 1,000
OEE RAE=HI 9, 130,000 *10% 913
OEE 28 500, 000 +2CH 1,000
202 04| 1,200 1,500 A300
01 =UWGibI 1,200 1,500 A300
OXIETHEAL P22 1,200
“KIETHEAALS SHE A
1,000,000& 1,000
-NEIIEE L NBEZI=S SEIA
200,000& 200
301 Let2MZ 30,000 50,000 A20,000
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14 JIEt2 43 30,000 50,000 A20,000
OXETTA AZUX T FH3
30,000,000& 30,000
K& THZAFALS (=8]) 31,681 41,19% N9,514
= 31,681
201 et AL| 31,681 41,1% A9,514
= 31,681
1 AR 22|l 31,681 41,1% A9,514
OXETMEAANY 5 242 S
31,681,000& 31,681
= 31,681
IR EHS B RIS A 2,988 2,126 862
= 8%
Al 2,092
201 LBr2Ah| 2,988 2,126 862
& 8%
Al 2,092
01 ArR2t2lt| 2,983 2,126 862
OZNXEHSE LTI A
2,988,000& 2,988
T 8%
Al 2,092
HAY2AZH| (LR SAIL) 60,675 58,482 2,193
= 13,236
Al 47,439
ol 2 HH| (DI &S AML) 37,635 35,682 1,953
= 13,236
Al 24,39
OIHAIR CHEi(el24d]) 37,635 35,682 1,953
= 13,236
Al 24,39
101 124 37,635 35,682 1,953
= 13,236
Al 24,39
03 SRH(RINHS) 2224 37,635 35,682 1,953
OJI2S(HBARE, 10538/1188)
(2,530,400 92 )+(2,555,2002 *32 ) 30,440
= 13,236
Al 17,204
OHE2Z(HIANRL, 10528/1158)
(18, 170&*1Z*12A1 2H9& )+( 18,350 * 1 * 12
A2H3E) 2,623
ONExL(HHARE, 1058/1158)
30,0003+ 12& 360
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